
Krepo Odense

2019-10-08  B Slutresultat
5 bord, 10 par. Antal spil: 27. Middel: 108,0. Middel+/=/- giver 60 / 50 / 40 %. Ligestilling.

Plac Par Score % Lige Navn M-ID

1 36 121,8 56,4 Ulla Ryehauge - Knud  Hansen 21 12
2 39 113,0 52,3 Ruth Andersen - Birthe Moeslund H. 37 38
3 33 109,3 50,6 1 Jette Andersen - Tove Borre 31 32
 34 109,3 50,6 1 Irene Krog - Gerda Rasmussen 1 2

5 31 108,0 50,0 1 Grethe Carlsen - Henning Andreassen 11 43

 38 108,0 50,0 1 Oversidder Hansen - Oversidder Olsen 80 81
7 32 106,8 49,4 Else Hansen - Bente  Hansen 16 15
8 37 105,5 48,8 2 Vini Vøldike - Angelo Danigella 30 44
9 35 105,5 48,8 0 Birthe Nielsen - Inger Lise Hoyer 40 39

10 40 93,0 43,1 Else Lisby - Bodil Andreassen 8 7



Krepo Odense

2019-10-08  B Slutresultat
5 bord, 10 par. Antal spil: 27. Middel: 108,0. Middel+/=/- giver 60 / 50 / 40 %. Ligestilling.

Par Kontr Resultat Point
Spil:  1

34 36 4 V +1 -450 0,3 7,8
35 32 4 N = 420       6,5 1,5
37 33 4 S = 420       6,5 1,5
39 38 M=/M= 4,0 4,0
40 31 4 V -1 50       2,8 5,3

Par Kontr Resultat Point
Spil:  2

34 36 4 N +2 680       6,5 1,5
35 32 5 Ø -3 150       2,8 5,3
37 33 4U N -5 -500 0,3 7,8
39 38 M=/M= 4,0 4,0
40 31 4 N +2 680       6,5 1,5

Par Kontr Resultat Point
Spil:  3

34 36 2 N +1 110       6,5 1,5
35 32 1 N +2 110       6,5 1,5
37 33 5 N -3 -150 0,3 7,8
39 38 M=/M= 4,0 4,0
40 31 2 Ø = -110 2,8 5,3

Par Kontr Resultat Point
Spil:  4

31 39 2 S +1 110       6,5 1,5
35 37 2 Ø = -110 0,3 7,8
36 33 2 S +1 110       6,5 1,5
38 34 M=/M= 4,0 4,0
40 32 2 S = 90       2,8 5,3

Par Kontr Resultat Point
Spil:  5

31 39 1 S = 80       7,8 0,3
35 37 3 Ø +1 -130 0,3 7,8
36 33 3 N -1 -100 5,3 2,8
38 34 M=/M= 4,0 4,0
40 32 3 Ø = -110 2,8 5,3

Par Kontr Resultat Point
Spil:  6

31 39 2 N -1 -50 2,8 5,3
35 37 2 Ø = -90 0,3 7,8
36 33 2 Ø -1 100       6,5 1,5
38 34 M=/M= 4,0 4,0
40 32 2 Ø -1 100       6,5 1,5

Par Kontr Resultat Point
Spil:  7

32 31 4 N +1 650       6,5 1,5
36 38 M=/M= 4,0 4,0
37 34 3U N +1 630       2,8 5,3
39 35 4 N +1 650       6,5 1,5
40 33 4 N = 620       0,3 7,8

Par Kontr Resultat Point
Spil:  8

32 31 3 N = 140       0,3 7,8
36 38 M=/M= 4,0 4,0
37 34 4 N +1 450       7,8 0,3
39 35 3 S +3 230       4,0 4,0
40 33 3 N +3 230       4,0 4,0

Par Kontr Resultat Point
Spil:  9

32 31 4 S -9 -450 0,3 7,8
36 38 M=/M= 4,0 4,0
37 34 4 N = 420       5,3 2,8
39 35 4 S +2 480       7,8 0,3
40 33 2 S +3 200       2,8 5,3

Par Kontr Resultat Point
Spil:  10

31 36 1 V +1 -110 4,0 4,0
33 32 1 V +1 -110 4,0 4,0
37 39 1 V +1 -110 4,0 4,0
38 35 M=/M= 4,0 4,0
40 34 2 V = -110 4,0 4,0



Krepo Odense

2019-10-08  B Slutresultat
5 bord, 10 par. Antal spil: 27. Middel: 108,0. Middel+/=/- giver 60 / 50 / 40 %. Ligestilling.

Par Kontr Resultat Point
Spil:  11

31 36 2 Ø -1 50       5,3 2,8
33 32 2U V -1 50       5,3 2,8
37 39 2U S -2 -100 0,3 7,8
38 35 M=/M= 4,0 4,0
40 34 1 V -1 50       5,3 2,8

Par Kontr Resultat Point
Spil:  12

31 36 1U N -1 -100 2,8 5,3
33 32 2 Ø +1 -140 0,3 7,8
37 39 1U N = 90       5,3 2,8
38 35 M=/M= 4,0 4,0
40 34 1U N +1 120       7,8 0,3

Par Kontr Resultat Point
Spil:  13

32 37 2 Ø -2 200       4,0 4,0
34 33 1 N = 80       0,3 7,8
38 31 M=/M= 4,0 4,0
39 36 2 Ø -2 200       4,0 4,0
40 35 3 Ø -3 300       7,8 0,3

Par Kontr Resultat Point
Spil:  14

32 37 3U Ø -1 50       2,8 5,3
34 33 2 S +1 140       6,5 1,5
38 31 M=/M= 4,0 4,0
39 36 3U Ø +1 -430 0,3 7,8
40 35 2 S +1 140       6,5 1,5

Par Kontr Resultat Point
Spil:  15

32 37 4 Ø = -420 5,3 2,8
34 33 4 Ø = -420 5,3 2,8
38 31 M=/M= 4,0 4,0
39 36 4 Ø = -420 5,3 2,8
40 35 3U Ø +2 -460 0,3 7,8

Par Kontr Resultat Point
Spil:  16

31 37 3U Ø +1 -630 1,5 6,5
33 38 M=/M= 4,0 4,0
35 34 2 Ø +3 -150 6,5 1,5
39 32 2 S -3 -150 6,5 1,5
40 36 3U Ø +1 -630 1,5 6,5

Par Kontr Resultat Point
Spil:  17

31 37 4 Ø -2 100       7,8 0,3
33 38 M=/M= 4,0 4,0
35 34 2U Ø = -120 5,3 2,8
39 32 1 Ø +2 -140 2,8 5,3
40 36 3 Ø +1 -170 0,3 7,8

Par Kontr Resultat Point
Spil:  18

31 37 3U Ø -1 50       7,8 0,3
33 38 M=/M= 4,0 4,0
35 34 4 Ø = -420 2,8 5,3
39 32 2 Ø +1 -140 5,3 2,8
40 36 4 V +1 -450 0,3 7,8

Par Kontr Resultat Point
Spil:  19

31 33 3 V +1 -130 4,0 4,0
32 38 M=/M= 4,0 4,0
34 39 3 V = -110 7,8 0,3
36 35 3U Ø = -600 0,3 7,8
40 37 2 V +2 -130 4,0 4,0

Par Kontr Resultat Point
Spil:  20

31 33 4x Ø -2 500       7,8 0,3
32 38 M=/M= 4,0 4,0
34 39 3U Ø -1 100       5,3 2,8
36 35 3U Ø = -600 2,8 5,3
40 37 3U Ø +1 -630 0,3 7,8
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2019-10-08  B Slutresultat
5 bord, 10 par. Antal spil: 27. Middel: 108,0. Middel+/=/- giver 60 / 50 / 40 %. Ligestilling.

Par Kontr Resultat Point
Spil:  21

31 33 2 V = -110 0,3 7,8
32 38 M=/M= 4,0 4,0
34 39 2 V -2 100       7,8 0,3
36 35 3 Ø -1 50       2,8 5,3
40 37 1U N = 90       5,3 2,8

Par Kontr Resultat Point
Spil:  22

32 34 2 V +1 -140 6,5 1,5
33 39 4 V = -620 0,3 7,8
35 31 3 V = -140 6,5 1,5
37 36 3 V +1 -170 2,8 5,3
40 38 M=/M= 4,0 4,0

Par Kontr Resultat Point
Spil:  23

32 34 1 Ø = -80 5,3 2,8
33 39 3 V = -110 1,5 6,5
35 31 3U Ø -2 200       7,8 0,3
37 36 2 Ø = -110 1,5 6,5
40 38 M=/M= 4,0 4,0

Par Kontr Resultat Point
Spil:  24

32 34 1 Ø = -80 2,8 5,3
33 39 3U Ø -1 50       5,3 2,8
35 31 2 V -3 150       7,8 0,3
37 36 4x S -5 -1100 0,3 7,8
40 38 M=/M= 4,0 4,0

Par Kontr Resultat Point
Spil:  25

33 35 4 S -1 -50 2,8 5,3
34 31 4 N = 420       7,8 0,3
36 32 4x S -1 -100 0,3 7,8
38 37 M=/M= 4,0 4,0
40 39 2 S = 90       5,3 2,8

Par Kontr Resultat Point
Spil:  26

33 35 2 Ø -1 100       7,8 0,3
34 31 2 Ø +1 -140 2,8 5,3
36 32 3U N -1 -100 5,3 2,8
38 37 M=/M= 4,0 4,0
40 39 3 S -4 -400 0,3 7,8

Par Kontr Resultat Point
Spil:  27

33 35 4 V = -420 6,5 1,5
34 31 4 Ø = -420 6,5 1,5
36 32 3U V +2 -460 1,5 6,5
38 37 M=/M= 4,0 4,0
40 39 3U V +2 -460 1,5 6,5


